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QUESTION 1

Which entity or entities can specify Eligibility Criteria Groups?
A. Order

B. Campaign

C. Package

D. Campaign and Package

E. Order, Campaign, and Package

Correct Answer: A

QUESTION 2

How many bill segment-related financial transactions do pay plans have?

A. one

B. depends on the number of bills that will contain the customer\\'s pay plan commitments
C. depends on the number of payments that is part of the pay plan

D. none

E. unlimited

Correct Answer: B

QUESTION 3

Which three statements describe the main functions of User ?Portal Preference? (Choose three.)
A. It defines which zones appear on portals.

B. It defines which zones should initially be collapsed on portals.

C. It defines the order in which the zones appear on portals.

D. It updates the security rights for zones appearing on portals.

E. It updates the security rights to the portals.

Correct Answer: ABC

QUESTION 4
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Which high-level entity prevents invalid meter configurations from being set up for a specific meter?
A. Meter Type

B. Meter Configuration Type

C. Valid Meter Configuration

D. Valid Register Configuration

E. Meter Configuration

Correct Answer: B

QUESTION 5

Which plug-in spot must be configured if an implementation does not want a Business Object to do a complete roll back
if there is an error when executing state-specific business rules?

A. Monitor Algorithm

B. Entry Algorithm

C. Transition Error

D. Exit Algorithm

E. There is no way to prevent a Business Object from doing a complete rolling back.

Correct Answer: A
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